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O1= 012t s=&IIXF 2

2,000,000

e
Herarel |4
ot NEMA 2 2 HA)
2 2A B BRIEH) - HRA ofl &t i HIDEZ
403 NXIEHS K201 500,000 2,700,000 /2,200,000
02 SIS0t A=24 500,000 2,100,000 1,600,000
O XIS At ANIESHE 2 500,000
SAHADBIR ALY (ZIH 210,000 65,000 145,000
403 AXIEHMSA=01d 210,000 65,000 145,000
02 SJ|2Sotiet A=A 210,000 65,000 145,000
OXN< ClArlard Xa 210,000
NS A A S E(RD) AL (St 328,000 328,000
308 AHRIEMSOIE 328,000 328,000
1 S 2AS0 et B oA 328,000 328,000
OXNAFHH LS E(RD)ALS 328,000
S S5 FM(IHEFR 30,000 30,000
307 eIzl & 30,000 30,000
02 LB HAMHE XL 30,000 30,000
OSsStuUSHAME X3 30,000
[H2&elEl &t F4 10,215,055 31,440,900 N21,225,845
OlZ22clEl &t 54 4,315,055 9,875,900 /5,560,845
201 Ler=a| 19,800 20,000 A200
01 AtR2telt] 18,000 18,000 0
O0|2gelEl &F =4 18,000
02 S5=3l 1,800 2,000 A200
O0IZ2ZeIEl &t F|H 1,800
202 O 12,000 5,900 6,100
01 2HOIHI 12,000 5,900 6,100
O0|Z2E2El & =4 12,000
308 AXIHHISOIA 4,123,255 4,150,000 AN26,745
11 S 2S0terE oA 4,123,255 4,150,000 N26,745
O0I2YelEl JI=one 4,000,000
O= - 2zl oHE 123,255
401 AIZHIK 20HH| 160,000 5,700,000 /5,540,000
02 Z2/d 160,000 90,000 70,000
OZ&E S AXHX MA XdH 7= 160,000
OleH ot MERH =d 100,000 100,000
308 XXM SOIA 100,000 100,000
1 3JZSoterd e 100,000 100,000
OODlcH H=a |4 2 100,000
1= 012t =& 28 & 2,000,000 3,000,000 1,000,000
X&)
403 XIS A=01H 2,000,000 3,000,000 1,000,000
02 SII 2SSt = A 2,000,000 3,000,000 1,000,000




2 pe= SN HA D
M mMerpel R4
Etel: OlH22ClEl &Y |4 ESEE))
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
CXNE 88 NSk 23 4l Ngde #5208 2,500,000 0 2,500,000
X&)
403 X SHMSXH=01H 2,500,000 0 2,500,000
01 AXISHHAZE X 2,500,000 0 2,500,000
OULXNEEE NSUHFES Suddy #5 2,500,000
Al 2HSHEI HES X B Z2AA WS (SIH 1,300,000 600,000 700,000
X&)
403 AXIEHMS =01 1,300,000 600,000 700,000
02 SII2ASOIHEtAZH 2AS A 1,300,000 600,000 700,000
OCAIZESEHEIl =3 HIIEZMA O 1,300,000
DlcHetsaty |4 4,812,750 717,750 4,095,000
CEMY Sdet XA 37,750 567,750 A530,000
201 Zet2a| 11,900 11,900 0
01 At2tcH] 11,900 11,900 0
OEE 243t Al =8 11,900
202 Ot 4,250 4,250
01 2O 4,250 4,250
OLE 43 Mg = 4,250
308 NHXIEMSOIE 21,600 471,600 450,000
01 MAHHBSEx= 21,600 21,600 0
OX0Pte E2 HE - s XNFAE 21,600
S+=H RR0 C2 MAMHAH =24 XY (=HEF 4,775,000 0 4,775,000
X&)
403 X SHMSAH=01H 4,775,000 0 4,775,000
01 RIS = E X 4,775,000 0 4,775,000
OllcHetBI sl 5 4,775,000
Ol M= &2 990,000 200,000 790,000
SctX0E &y g et 200,000 200,000 0
403 MR EMSKHE01H 200,000 200,000 0
01 MHXIHHAZE X 200,000 200,000 0
SctA0F &g gdat 200,000
SAHE) = MEHH =4 300,000 0 300,000
308 NFRIEHMSOIE 300,000 0 300,000
11 S [2S0 et 3 4R AS A 300,000 0 300,000
Odtstd gy 2NE2)|s dAMHARS 300,000
EBASEH 858 NHSHX ZE(2HEEXY) 490,000 0 490,000
403 X EHHMSXH=01H 490,000 0 490,000
02 SO 2SI etk =2 2 E A 490,000 0 490,000
OEASE 58 ANEsHA &4 490,000
28 0icHEd S5 2= 1,135,400 866,000 269,400
Ol & e HHEA 2= 6,000 7,000 21,000
OlchHde Xt22 23 6,000 7,000 1,000
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ERNEE SN =
M 242 DHAE s 22
SRl DINEE AdL 2= (Gt ®2)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
301 LPHEN= 6,000 7,000 A1,000
14 JIEt2H = 6,000 7,000 A1,000
Ollidet Itz 24 6,000
S N8 58 2= &8 1,129,400 859,000 270,400
ZJESEENXE FHUsEH IHF 75,000 204,000 129,000
201 LEt2E | 72,000 200,000 128,000
03 A= S| 72,000 200,000 128,000
OYHSEXNXE =Y 72,000
202 04| 3,000 4,000 1,000
01 =LHAbI 3,000 4,000 21,000
OYHSEXNXE sty 3,000
Olei&er ZAH 24 4,400 5,000 A600
201 get=2a| 2,400 3,000 2600
01 At2tcIH] 2,400 3,000 A600
OHE MM EAL S 2= 2,400
202 Ol 2,000 2,000
01 =W Kbl 2,000 2,000
OHE MMl ZAL S E= 2,000
OIS AoEt 2 & K& 300,000 350,000 250,000
308 AFXIEHMSOIE 300,000 350,000 50,000
11 SIS USE S EASAISH 300,000 360,000 /50,000
OLEE +ASSUUXI(QIEH) AN 300,000
=t DIPDIE A4 |l - 48 =2 300,000 300,000
308 AR M S0IH 300,000 300,000
11 SIS0 U3 A AS A 300,000 300,000
O "Z& NI AFHE, 29 300,000
Ol0I& XgEtstns X 450,000 0 450,000
403 MRIEHHSHE01H 450,000 0 450,000
01 AXIEHA= 2L 450,000 0 450,000
OulDId Ngtstus K& 450,000
HY2AZH(H=rag ) 48,366 42,811 5,555
Jl=3H] 48,366 42,811 5,555
2AEE Jl=&3Hl 48,366 42,811 5,555
201 get=2a| 30,7%4 26,797 3,997
01 AlR2telbl 30,794 26,697 4,097
SNE2E A2l 30,794
202 O 6,772 5,814 958
01 =LHAbI 6,772 5,814 958
OFMEY =U0L 6,772
203 =& 10,800 10,200 600
01 J[2=gd =2 6,600 6,600 0

- 358 -




od
3
oF
uJ

1 0K &0
30 R0 I
EAEUNN
W & o
<1 RO )

-

600

n0
Ko
E
E=)
S
(<o}
o
LH3r
X
RIS
S 8 8
O N
© < <
ol
<
=
o o
or |S o
X0 g Ok
G P
3 2
=
I+
=z
=
g1 =
mﬂ Kl
bl KE
dl o
. L
A | oo
R | ow
. KO = ol
x oo &
r [© 5 ©
M
A

- 359 -



